H & 0l & AHS B Ml A

el 2ENBIAKNS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oIt 699,422 577,293 122,129
= 74,882
Al 624,540
NSEUIMEIMS 642,622 508,853 133,769
= 74,882
Al 567,740
AIRANEIANS 225,222 91,413 133,809
= 74,882
Al 150,340
QIRAAHIA S 150,340 75,860 74,480
201 er23 | 46,740 45,040 1,700
01 At2teltl 42,440 39,040 3,400
O «et=EH| 11,000,000 11,000
O geluzEd 233y 11,000,000& 11,000
O SEEsI| € RUUAEZI| 22F S
-8 11,000,000& 11,000
O DATESIAS BAFA Lo
100,0003*9& *43] 3,600
O U3 JEZH =2
4,400,000 4,400
O FIUALZI| ASIELITHI] 0I8+=
= 5,000 +240H 122 1,440
02 S5=24g4l 4,300 6,000 1,700
© SELUALSI| AILZHIKXIHI(3H)
3,300,000& 3,300
O At2lH AU O SRS fE=
1,000,000& 1,000
202 04| 9,600 6,720 2,880
01 =LHOLI 9,600 6.720 2,880
O SlEdHE P24 J|=044|
200,000& x4H 12 9,600
303 Z&a= 4,000 4,100 A100
01 Z&b= 4,000 4,100 A100
O UADILCX S P57 Zo=
4,000,000& 4,000
401 Al HIZ S OHYI 10,000 0 10,000
01 AlZ2H| 10,000 0 10,000
O RRI0IAYS)| SURALX J|BHEHIS
At 10,000,000& 10,000
405 AHAHE S 80,000 20,000 60,000
01 AL =S F=H 80,000 20,000 60,000
O = RIUAEZI| wH
20,000, 000 3CH 60,000
O SRALSI| 2FA WA
20,000,000 = 1CH 20,000




SA 2R
M2 DEROIAMEINZ
Chel: SIANHIAMS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR gyl X3 13,221 13,553 A332
= 13,221
201 et 3| 13,221 13,553 A332
= 13,221
01 AtR2te|Hl 13,221 13,553 A332
O 2et=EH| 13,221,000& 13,221
= 13,221
IS ASEAR X dHl K& 61,661 2,000 59,661
= 61,661
201 2= 61,661 2,000 59,661
= 61,661
01 AtR2t2|HI 61,661 2,000 59,661
© 2% dit=ZHl 9,661,000& 9,661
= 9,661
© SHsS eS| 52,000,000 52,000
= 52,000
QIRZSHE 2 =8 417,400 417,440 A0
QIESdE 29 417,400 417,440 A0
201 er23| 65,000 73,137 A8,137
01 At2teltl 15,000 22,000 AT7,000
O «et=EH| 15,000,000 15,000
02 S3=gHl 50,000 51,137 AT1,137
O 24H KL= S 30,000,000 30,000
O dg2elANAE KX2==H|
20,000,000 20,000
202 04l 2,400 3,360 A960
01 SLHoIH 2,400 3,360 2960
O UASME LD2EX =0l
100,000 x2&* 12 2,400
307 gl2to| & 360,000 339,743 10,257
05 212t =S 360,000 339,743 10,257
O ZE=HH AS5=2SH
350,000,000 360,000
AIBIO| etME WSEe &4 19,720 24,720 /5,000
oMAZe| NSA S5 2 =4 19,720 24,720 25,000
H=H0 NSHSE g2 = 19,720 24,720 25,000
201 er23| 13,000 18,000 /5,000
01 AtR2t2|HI 10,000 15,000 /5,000
O XES=E Lit=SH| 10,000,000 10,000
02 s3=gHl 3,000 3,000 0
O 5525 % MAl 3,000,000 3,000
202 04| 6,720 6.720
01 SLHoIH 6,720 6,720
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